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Note :- Attempt all questions.
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Instruction (A) : Question No. 1 has three parts. Part (A)
has Multiple choice type questions. Part (B) has Fill in
the blanks type questions. Part (C) has True / False type
questions. Each question carries 1 mark.
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¥ -1
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(Part - A)

gl faeeq g fafiw, 11x7=7]

Choose the correct option and write:

(1)

(1)

faraefieor @ soitaa & e & @ S aranr B
?

(@) & wEhT (b) SfET =R A gur
(c) FFgrardafts  (d) OmH Ruwar

Which of the following is the benefit to the
consumer from rationalization

(a) New experiment _

(b) Improvement in living standard

(c) Increase in efficiency

(d) Stability in employment

T F PR A T B
(a) “Iifes Fns

Which is the factor of localization
(a) Geographical factor

(b) Economic factor

(c) Political factor

(d) Al of the above
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(iii) fave & frw 2w o wdyuw starfior v gsn
(a) fea (b) wf¥dt gdry 3w
(c) i (d) YA

In which coumtry of the world industrialization first
took place

(a) Britain
(b) Western European Countnies
(¢) Amenca
(d) Japan

(iv) IMFTFAAAIL
@ @ () @
() IR (d) T9
Types of shares are
(a) Two (b) Three
(c) Four (d) Five

(v) vRaHaits A w S frr o i gary

() FEFBRR (b)) TWAH

() T ¥ (d) TRaowd

In which state is maximum wool produced in
India

(8) In Jammu and Kashmir

(b) In Guarat

(c) In Rajasthan

(d) In Haryana
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(i) YRER FheW b e

@) 19499H ®) 1956
(<) 191 R (& 1977H®

'_ic current Industnial policy applicable in India
15 -

@) 149 (b) 1956
() 1991 (d) 1977
(vii) AT (edig AT A A
(a) 2008 () 2007
. (c) 2005 (d) 2006
Eleventh Five Year plan was implemented
(a) 2008 (®) 2007
(c) 2005 (d) 2006
(s - )
(Part - B)

uea-1 e f gfd hifae
Fill in the blanks:

@) mwmﬁm@aﬁm_m

& QAT Wt

In the Eighth Five Year Plan percentage was

laid on industry and minerals.

[1x5=5]
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(i) & ﬁ%.#tﬁ@ﬁaﬁ’rmﬂrﬁm
HARHR 1S i wereqr i 1ré)
In year under chairmanship of K. C. Niyogi,
Planning Advisory Board was established.

(iii) Wﬂﬁwamﬁﬁ?—mm_ﬁﬁwﬁl
World famous iron and steel industry of
Chhattisgarh is located in

—————

(iv) BT SR F AT Y T Tt ]
Dividend rate of Equity shareholders is

(v) TEafaes AT Y =T A T HRT & e
R
The main cause of low real income is the low level
of

(s - H)
(Part - C)
T / ¥ fafa: [1x8=8]

Write True / False:
@) W%ﬁmﬁmwﬁaﬁmg

The first Jute mill was established in Kolkata.
(i) FOTTAY 3 Friu o s St e @

The regional director has the right to issue
debentures.
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(iii) FEA & AT SN & T T H DT AT
fearmar 2

At present the name of NITI AAYOG has been
changed to Planning Commission.

(iv) mmmwﬁwmmﬁq&
HET 4Tl

The objective of the First Five Year Plan was to
increase industrial production.

(v) QST SRR 3 e A i e vifveT o

The central government had the main role in the

Planning Commission.

(vi) G-2B SR 7%t TR WX F3 & geafag
N :
G-2B is a Scheme related to creating a business
friendly environment.

(vid) FH8t (UNIDO) &1 Jearerr s i
UNIDO’s headquarter is in Russia.

(ﬁi)éﬂﬁmwmmaﬁwm

Kanpur was the largest center of Cotton in the
Country.
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Instruction (B) : Question No. 2 to 12 are very short
answer type questions. Each question camries 2 marks.
Maximum word-limit of answer is 30 words.

(Hfa oy Ivda we)
(Very Short Answer Type Questions)
i T & v 3 Rt #t fafag

Wirite any two objectives of industrial localization.

feradhiamoor it ot 3 @01 2 sian g

Write any two differences between rationalization and
nationalization.

T T & < winifore st @t fafag

Write any two geographical reasons for industrial
localization.

. QTR T 3 el @ it Y wwen

Explain any two merits of preference share.

Wi ST SR & YA & foe SuRrt fw iRer et A

wferget <fifar & avia Aifom @ 3 A

Describe the adverse policy of the East India Company,
which was responsible for the decline of ancient industry.

(any two points)

2]

2],

12}

12]

12]
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W7 G TEIT e S 27 121

What is meant by cottage industry?

TS SR ST T | 12]
What is basic industry?

-9 i iy @ ond faf 12
Write the meaning of industrial policy.

W10 A 4 fiof i & st 8 12

What is meant by public sector and private sector?

TE-11 i st & 2wt @t ey @ Q) 12]

Write the objectives of NITI Aayog, (any two)

S¥-12 WIS g @ enfirs watat it srravaear w9 2 $18 @ 2]
Fror fafa |

Why is industrial relations necessary from the socieiy’s
point of view? Write any two reasons.

3T () « R 619 13 & 18 T A Iwt e 8 e
T R 3 3ich JArafed 8§ Ia0 A rfrebaw yre2- AT 50 Wew
2

Instruction (C) : Question No. 13 to 18 are short answer
type questions. Each question carries 3 marks.
Maximum word limit of answer is 50 words.
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GRESNDS L)
(Short Answer Type Questions)
qy3-13 mﬁaﬂm%nﬁﬁaﬁmiﬁaﬁqm@aﬁ [141+1
AT 3
Explain any three problems coming in the way of
industrialization.
- 14 ﬁﬁﬁmﬁmm%f%rqaﬂﬁﬁmm%?ﬂ?gmﬁaﬁ [1+1+1
%ﬁﬂm =3]
Write three suggestions of the Industrial Commission for
industrial development.
N¥A-15  Fed WA 6 GHRAT A O G A O TG AT (14141
qAATEA =3
The problem of raw materials is a major problem of small
and cottage industries explain.
ae1-16  foaitr @nea i i fadard fifag [1+1+1
Write three characteristics of departmental organization. =3)
T¥-17 i e & Tedw & a & su fafay [1+1+1
@ i) =3
Write measures to remove backwardness in industrial
development. (any three)
We-18  Jiaifie wast & RO S TEEd) [1+1+1
Explain the bad effects of industnal conflicts. =3
P.T.O.
R VT
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T -19

T¥1-20

%ﬁzmmngﬂzﬁﬁﬁmmﬁmm
W 5 37 TR & i 5 & s faaey 8 SRCH
arfaaan wrsz-dimr 150 Y152 1

Instruction (D) : Question No. 19 to 26 are long answer
type questions. Each question carmes 5 marks. Each
question has internal choice. Maximum word limit of
answer is 150 words. |

(@ 3T I9)
(Long Answer Type Questions) |
i ¥ 5 vig e faeiat & faar {1+1+1+
TR ; 141=5)
Explain in detail any five technical principles of
rationalization. '
O]

OR .
FICTRTAT 7 S FANT & T FAeT & T4 FROT 87 i
gig Freer fafag
What are the reasons for intense centralization in the Jute
Industry in Kolkata? Write any five reasons. '

HUGET & T AW B W R RS R e 24+

What is meant by debentures? Explain any three types of

: 1=5)
this.

AYAT

OR
aiftrenr St & T aread 82 36 fd e vt
HAFTZA

What is meant by preference shares? Explain any three
types of this.
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AL Iﬁgwﬁﬁmﬁmﬁmﬁﬁaﬂhﬁﬁm [1+1+1+

Destcribe the achievements of industrial development 1+1=5]
during the war period.
HA3T
OR

NIRRT 3 STaf St 3 s 35 e v A Ee

Explain the factors supporting the emergence of modem
industry in India.

TgA-22 Y U FER I 7 Tod q9A3a1 (P18 5) [141+1+

a¥1-23

Explain the importance of small and cottage industries. 1+1=5)
(any 3)

HYAQT
OR
T 3 faRit it it s Ererl R aRe
Explain the main problems of foreign capital in India

wﬁ@mﬂmm @3 5) (1+141+
Explain the importance of Jute Industry inIndia (any 5)  1+1=5]

HAJT
OR
vert i e ST e T i e e
Write any five reasons for the establishment of iron and
steel factory in Bhilal.
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TY-24

H 1948 I 3ffenfires ffe it faghwandt fafay (@13 5)

Write'the features of the industrial policy of 1948.
HUGAT

OR

T e A ) s e

q94-25

a91-26

Explain the present system for establishing industrial

1-242332

Write criticisms of the present industrial policy.

AR St & e i ger e
Explain any five types of holding companies.
HAAT
OR
dieh o & = wiw et Y fafa

Wnite any five benefits of public corporation.

T TSI SR § TR gRT St fyea

P I S gl 8 e R 3

Which features of industrial development have been

included by the government in state intervention in
industries?

et
| . OR
T 3 Sitetfirer wifer it v R A s @
AT

peace 1n India.

IR 2

[1+1+1+
1+1=5]

[1+1+1+
1+1=5]

[141+1+
1+1=5]



